Notes Answers


Chapter 4 IFRS 2 Share-Based Payment

Answer 1

Share appreciation rights (SARs)

· IFRS2 ‘Share-based payment’ (paragraph 30) requires a company to re-measure the fair value of a liability to pay cash-settled share based payment transactions at each reporting date and the settlement date, until the liability is settled.
· An example of such a transaction is share appreciation rights. Thus the company should recognise a liability of ($8 × 10 million shares), i.e. $80 million at 31 October 2005, the vesting date.
· The liability recognised at 31 October 2005 was in fact based on the share price at the previous year end and would have been shown at ($6 × 1/2) × 10 million shares, i.e. $30 million. This liability at 31 October 2005 had not been changed since the previous year end by the company.
· The SARs vest over a two year period and thus at 31 October 2004 there would be a weighting of the eventual cost by 1 year/2 years. Therefore, an additional liability and expense of $50 million should be accounted for in the financial statements at 31 October 2005.
· The SARs would be settled on 1 December 2005 at $9 × 10 million shares, i.e. $90 million. The increase in the value of the SARs since the year end would not be accrued in the financial statements but charged to profit or loss in the year ended 31 October 2006.
	31 October 2004
	Dr. ($m)
	Cr. ($m)

	Staff cost ($6 × 10m ÷ 2 years)
	30
	

	Liability
	
	30


	31 October 2005
	Dr. ($m)
	Cr. ($m)

	Staff cost ($8 × 10m – 30m) 
	50
	

	Liability
	
	50


	31 October 2006 (Settlement date 1 December 2005)
	Dr. ($m)
	Cr. ($m)

	Liability
	80
	

	Profit or loss – staff cost
	10
	

	Cash ($9 × 10m)
	
	90


Answer 2
Under the principles of IFRS 2 – Share Based Payment – this arrangement will be regarded as an equity settled share based payment.
The fair value of the equity settled share based payment will be credited to equity and debited to expenses (or occasionally included in the carrying amount of another asset) over the vesting period.
Where the transaction is with employees, fair value is measured as the market value of the equity instrument at the grant date.
The vesting condition relating to the number of executives who remain with Delta is a non-market condition so it is taken into account when estimating the number of options that will vest.
The vesting condition relating to the share price is a market condition so it is taken into account when measuring the fair value of an option at grant date.
Therefore the total estimated fair value of the share based payment is $1,545,600 (92 × 20,000 × $0·84).
1/3 of this amount ($515,200) is recognised in the year ended 31 March 2012.
$515,200 is credited to equity and debited to expenses (or occasionally included in the carrying amount of another asset).
Answer 3
1.
Statement of financial position
	
	As at 31 March

	
	2011
	2010

	
	$000
	$000

	In equity
	912
	304


2.
Statement of comprehensive income

	
	As at 31 March

	
	2011
	2010

	
	$000
	$000

	In operating expenses
	608
	304


3.
Explanation

The total expected cost at 31 March 2010 = $912,000 (19 × 10,000 × $4·8)
1/3 is recognised in equity as this is an equity settled share based payment
The total expected cost at 31 March 2011 = $1,368,000 (19 × 15,000 × $4·8)
2/3 is recognised in equity at 31 March 2011. Amounts can be shown as a separate component of equity or credited to retained earnings
The vesting condition relating to share price is ignored in the estimation of the total expected cost as it is one of the factors that is used to compute the fair value of the share option at the grant date – i.e. it is a market related vesting condition
The cost recognised in 2010 is the cost to date since this is the first year of the vesting period
The cost recognised in 2011 is the difference between cumulative costs carried and brought forward
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